# NEW BEREZIN SYMBOL INEQUALITIES FOR OPERATORS ON THE REPRODUCING KERNEL HILBERT SPACE 

Ramiz TAPDIGOGLU

(Communicated by F. Kittaneh)

Abstract. We use Kittaneh and Manasrah inequality and Kian's functional calculus method to prove some new inequalities for Berezin symbols and Berezin numbers of operators. In particular, we prove that

$$
\operatorname{ber}\left(f(A)^{2}\right) \leqslant \operatorname{ber}\left(\frac{f(A)^{p}}{p}+\frac{f(A)^{q}}{q}\right)
$$

for all self-adjoint operators $A$ on the reproducing kernel Hilbert space $\mathscr{H}(\Omega)$ with spectrum in $J \subset(-\infty,+\infty)$ and all continuous nonnegative functions $f$ defined on $J$. We also prove new upper and lower bounds for Berezin numbers of reproducing kernel Hilbert space operators. Among our results, we prove that if $A: \mathscr{H}(\Omega) \rightarrow \mathscr{H}(\Omega)$ is a bounded pseudo-hypornormal operator on the reproducing kernel Hilbert space $\mathscr{H}(\Omega)$, then for all non-negative non-decreasing pseudo-operator convex function $f$ on $[0, \infty)$, we have

$$
f(\operatorname{ber}(A)) \leqslant \frac{1}{2}\left\|f\left(\frac{|A|}{1+\frac{\xi_{|A|}^{2}}{8}}\right)+f\left(\frac{\left|A^{*}\right|}{1+\frac{\xi_{|A|}^{2}}{8}}\right)\right\|_{\mathrm{Ber}}
$$

where $\|.\|_{\text {Ber }}$ denotes the Berezin norm of operator.

## 1. Introduction

Let $\Omega$ be a subset of a topological space $X$ such that the boundary $\partial \Omega$ is nonempty. Let $\mathscr{H}$ be an infinite-dimensional Hilbert space of complex-valued functions defined on $\Omega$. We say that $\mathscr{H}$ is a reproducing kernel Hilbert space if the following two conditions are satisfied:
(i) for any $\lambda \in \Omega$, the evaluation functionals $f \rightarrow f(\lambda)$ are continuous on $\mathscr{H}$;
(ii) for any $\lambda \in \Omega$, there exists $f_{\lambda} \in \mathscr{H}$ such that $f_{\lambda}(\lambda) \neq 0$ (or equivalently, there is no $\lambda_{0} \in \Omega$ such that $f\left(\lambda_{0}\right)=0$ for every $f \in \mathscr{H}$ ).

According to the classical Riesz representation theorem, the assumption (i) implies that, for every $\lambda \in \Omega$ there exists a unique function $k_{\lambda} \in \mathscr{H}$ such that

$$
f(\lambda)=\left\langle f, k_{\lambda}\right\rangle_{\mathscr{H}}, f \in \mathscr{H} .
$$

[^0]The function $k_{\lambda}(z)$ is called the reproducing kernel of $\mathscr{H}$ at point $\lambda$. It is well known that every reproducing kernel Hilbert space is separable. So, if $\left\{e_{n}(z)\right\}_{n \geqslant 0}$ is any orthonormal basis of $\mathscr{H}$, then (see Aronzajn [2])

$$
k_{\lambda}(z)=\sum_{n=0}^{\infty} \overline{e_{n}(\lambda)} e_{n}(z)
$$

By virtue of assumption (ii), we surely have $k_{\lambda} \neq 0$ and we denote by $\widehat{k}_{\lambda}$ the normalized reproducing kernel, that is $\widehat{k}_{\lambda}:=\frac{k_{\lambda}}{\left\|k_{\lambda}\right\|_{\mathscr{C}}}$. Recall that if $\mathscr{B}(\mathscr{H})$ is the Banach algebra of all bounded linear operator on $\mathscr{H}$, then the Berezin symbol $\widetilde{A}$ of any operator $A \in \mathscr{B}(\mathscr{H})$ is the complex-valued function defined on the $\Omega$ by the formula (see, Nordgren and Rosenthal [24] and Berezin [6])

$$
\widetilde{A}(\lambda):=\left\langle A \widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle_{\mathscr{H}}, \lambda \in \Omega .
$$

The Berezin set of operator $A$ is defined by

$$
\operatorname{Ber}(A)=\left\{\left\langle A \widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle: \lambda \in \Omega\right\}=\operatorname{Range}(\widetilde{A})
$$

and Berezin number ber $(A)$ of operator $A$ is the following number (see $[16,17]$ )

$$
\operatorname{ber}(A):=\sup _{\lambda \in \Omega}|\widetilde{A}(\lambda)|
$$

Since, $|\widetilde{A}(\lambda)| \leqslant\|A\|$, Berezin symbol is a bounded function on $\Omega$. Also, it is trivial by Cauchy-Schwarz inequality that $\operatorname{ber}(A) \leqslant\|A\|$. The Berezin norm $\|A\|_{\text {Ber }}$ of operator $A \in \mathscr{B}(\mathscr{H}(\Omega))$ is defined by (see, [13])

$$
\|A\|_{\mathrm{Ber}}:=\sup _{\lambda \in \Omega}\left\|A \widehat{k}_{\lambda}\right\|_{\mathscr{H}}
$$

It is easy to verify that $\|A\|_{\text {Ber }}$ determines a new norm in the algebra $\mathscr{B}(\mathscr{H}(\Omega))$, since the set of reproducing kernels span $\mathscr{H}$ (see [2]). It is also known that the Berezin norm $\|A\|_{\text {Ber }}$ is not equivalent to the usual operator norm $\|A\|$ (see Engliś [7] and [23]), while the inequality $\|A\|_{\text {Ber }} \leqslant\|A\|$ is trivial; also it is obvious that $\operatorname{ber}(A) \leqslant\|A\|_{\text {Ber }}$.

In the present article, we prove some new inequalities for the Berezin number of operators, and also we give some inequality between $\|A\|_{\text {Ber }}$ and ber $(A)$ for some operators $A$. Related results are contained in $[3,4,5,8,9,10,13,11,12,27,28,29]$.

## 2. Berezin symbol inequalities via refinements of the scalar Young inequality and related inequalities

Recall that an operator $A \in \mathscr{B}(\mathscr{H})$ is called positive if $\langle A x, x\rangle \geqslant 0$ for all $x \in \mathscr{H}$. In this case we will write $A \geqslant 0$. The classical operator Jensen inequality for the positive operators $S \in \mathscr{B}(\mathscr{H})$ is

$$
\langle S x, x\rangle^{r} \leqslant(\geqslant)\left\langle S^{r} x, x\right\rangle, r \geqslant 1(0 \leqslant r \leqslant 1) .
$$

Kittaneh and Manasrah [22] obtained the following result which is a refinement of scalar Young inequality.

LEMMA 1. Let $a, b \geqslant 0$, and $p, q>1$ such that $\frac{1}{p}+\frac{1}{q}=1$. Then

$$
\begin{equation*}
a b+\min \left\{\frac{1}{p}, \frac{1}{q}\right\}\left(a^{\frac{p}{2}}-b^{\frac{q}{2}}\right)^{2} \leqslant \frac{a^{p}}{p}+\frac{b^{q}}{q} \tag{1}
\end{equation*}
$$

Note that for $p=2$, we have equality in (1).
In this section, we will use inequality (1) and a method of the paper [20] to prove new inequalities for the Berezin number of some operators on the reproducing kernel Hilbert space $\mathscr{H}(\Omega)$.

Let $\mathscr{B}(\mathscr{H})_{+}$denote the set of all positive operators in $\mathscr{B}(\mathscr{H})$, and let $\mathscr{B}(\mathscr{H})_{h}$ be the real space of all self-adjoint operators on $\mathscr{H}$. It is well known (and easy to verify) that every bounded positive operator on $\mathscr{H}$ is self-adjoint. So, always $\mathscr{B}(\mathscr{H})_{+} \subset \mathscr{B}(\mathscr{H})_{h}$.

THEOREM 1. Let $f, g$ be two continuous functions defined on an interval $J \subset$ $(-\infty,+\infty)$ and $f, g \geqslant 0$. If $p>1, \frac{1}{p}+\frac{1}{q}=1$, then:
(i) $\widetilde{(f g)(A)}(\lambda)+\min \left\{\frac{1}{p}, \frac{1}{q}\right\}\left[\left(f(A)^{\frac{p}{2}}-g(A)^{\frac{q}{2}}\right)^{2}\right]^{\sim}(\lambda) \leqslant\left[\frac{f(A)^{p}}{p}+\frac{g(A)^{q}}{q}\right]^{\sim}$
for all operators $A \in \mathscr{B}(\mathscr{H})_{h}$ with spectrum contained in $J$ and all $\lambda \in \Omega$;
(ii) $\operatorname{ber}\left(f(A)^{2}\right) \leqslant \operatorname{ber}\left(\frac{f(A)^{p}}{p}+\frac{f(A)^{q}}{q}\right)$ for all $A \in \mathscr{B}(\mathscr{H})_{h}$ with spectrum contained in $J$ and all $\lambda \in \Omega$.
(iii) ber $\left(A+\min \left\{\frac{1}{p}, \frac{1}{q}\right\}\left(f(A)^{p / 2}-g(A)^{q / 2}\right)^{2}\right) \leqslant \operatorname{ber}\left(\frac{f(A)^{p}}{p}+\frac{g(A)^{q}}{q}\right)$ for all $A \in \mathscr{B}(\mathscr{H})_{h}$ with spectrum contained in $J$.

Proof. Let $t, s \in J$. Following Kian [20], noticing that $f(t) \geqslant 0$ and $g(t) \geqslant 0$ for all $t \in J$, and putting $a=f(t)$ and $b=g(t)$ in inequality (1), we obtain

$$
\begin{equation*}
f(t) g(t)+\min \left\{\frac{1}{p}, \frac{1}{q}\right\}\left(f(t)^{\frac{p}{2}}-g(t)^{\frac{q}{2}}\right)^{2} \leqslant \frac{f(t)^{p}}{p}+\frac{g(t)^{q}}{q} \tag{2}
\end{equation*}
$$

for all $t \in J$. Using the functional calculus for $A$ to inequality (2), we have that

$$
f(A) g(A)+\min \left\{\frac{1}{p}, \frac{1}{q}\right\}\left(f(A)^{\frac{p}{2}}-g(A)^{\frac{q}{2}}\right)^{2} \leqslant \frac{f(A)^{p}}{p}+\frac{g(A)^{q}}{q} .
$$

Whence

$$
\begin{aligned}
& \left\langle f(A) g(A) \widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle+\min \left\{\frac{1}{p}, \frac{1}{q}\right\}\left\langle\left(f(A)^{\frac{p}{2}}-g(A)^{\frac{q}{2}}\right)^{2} \widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle \\
& \leqslant\left\langle\left(\frac{f(A)^{p}}{p}+\frac{g(A)^{q}}{q}\right) \widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle
\end{aligned}
$$

for all $\lambda \in \Omega$, which means that

$$
f \widetilde{f(A) g(A)}(\lambda)+\min \left\{\frac{1}{p}, \frac{1}{q}\right\}\left[\left(f(A)^{\frac{p}{2}}-g(A)^{\frac{q}{2}}\right)^{2}\right](\lambda) \leqslant\left[\frac{f(A)^{p}}{p}+\frac{g(A)^{q}}{q}\right](\lambda)
$$

or equivalently,

$$
\begin{equation*}
\widetilde{(f g)(A)}(\lambda)+\min \left\{\frac{1}{p}, \frac{1}{q}\right\}\left[\left(f(A)^{\frac{p}{2}}-g(A)^{\frac{q}{2}}\right)^{2}\right](\lambda) \leqslant\left[\frac{f(A)^{p}}{p}+\frac{g(A)^{q}}{q}\right]^{\sim}(\lambda) \tag{3}
\end{equation*}
$$

for all $\lambda \in \Omega$, which proves (i).
Replacing $g$ by $f$ in (3), we get

$$
\widetilde{f(A)^{2}}(\lambda) \leqslant\left[\frac{f(A)^{p}}{p}+\frac{f(A)^{q}}{q}\right]^{\sim}(\lambda), \forall \lambda \in \Omega
$$

which implies by taking sup in both side that

$$
\operatorname{ber}\left(f(A)^{2}\right) \leqslant \operatorname{ber}\left(\frac{f(A)^{p}}{p}+\frac{f(A)^{q}}{q}\right)
$$

which proves (ii). For the proof of (iii), it suffices to take functions $f$ and $g$ in (i) satisfying $f(t) g(t)=t$. The theorem is proven.

Manasrah and Kittaneh [1] have generalized inequality (1) as follows:
LEMMA 2. If $a, b>0$ and $p, q>1$ such that $\frac{1}{p}+\frac{1}{q}=1$, then for $m=1,2, \ldots$,

$$
\begin{equation*}
\left(a^{\frac{1}{p}} b^{\frac{1}{q}}\right)^{m}+r_{0}^{m}\left(a^{\frac{m}{2}}-b^{\frac{m}{2}}\right)^{2} \leqslant\left(\frac{a^{r}}{p}+\frac{b^{r}}{q}\right)^{\frac{m}{r}}, r \geqslant 1 \tag{4}
\end{equation*}
$$

where $r_{0}=\min \left\{\frac{1}{p}, \frac{1}{q}\right\}$. In particular, if $p=q=2$, then

$$
\left(a^{\frac{1}{2}} b^{\frac{1}{2}}\right)^{m}+\frac{1}{2^{m}}\left(a^{\frac{m}{2}}-b^{\frac{m}{2}}\right)^{2} \leqslant 2^{-\frac{m}{r}}\left(a^{r}+b^{r}\right)^{\frac{m}{r}}
$$

For $m=1$

$$
\left(a^{\frac{1}{2}} b^{\frac{1}{2}}\right)+\frac{1}{2}\left(a^{\frac{1}{2}}-b^{\frac{1}{2}}\right) \leqslant 2^{-\frac{1}{r}}\left(a^{r}+b^{r}\right)^{\frac{1}{r}}
$$

THEOREM 2. Let $f, g$ be two continuous functions defined on an interval $J \subset$ $(-\infty,+\infty)$ and $f, g \geqslant 0$, and let $p, q>1$ be numbers such that $\frac{1}{p}+\frac{1}{q}=1$. Then, for $m=1,2, \ldots$, we have:
(i)

$$
\begin{align*}
& {\left[\left(f(A)^{\frac{1}{p}} g(A)^{\frac{1}{q}}\right)^{m}\right]^{\sim}(\lambda)+r_{0}^{m}\left[\left(f(A)^{\frac{m}{2}}-g(A)^{\frac{m}{2}}\right)^{2}\right](\lambda)} \\
& \leqslant\left[\left(\frac{f(A)^{r}}{p}+\frac{g(A)^{r}}{q}\right)^{\frac{m}{r}}\right](\lambda), r \geqslant 1 \tag{5}
\end{align*}
$$

where $r_{0}=\min \left\{\frac{1}{p}, \frac{1}{q}\right\}$, for all operators $A \in \mathscr{B}(\mathscr{H})_{+}$with $\sigma(A) \subset J \subset[0,+\infty)$ and all $\lambda \in \Omega$;
(ii)

$$
\operatorname{ber}\left(A^{\frac{m}{2}}+\frac{1}{2^{m}}\left(f(A)^{\frac{m}{2}}-g(A)^{\frac{m}{2}}\right)^{2}\right) \leqslant \inf _{r \geqslant 1} \operatorname{ber}\left(\left(\frac{f(A)^{r}+g(A)^{r}}{2}\right)^{\frac{m}{r}}\right)
$$

for every operator $A \in \mathscr{B}(\mathscr{H})_{+}$with $\sigma(A) \subset J \subset[0,+\infty)$.
Proof. The proof of this theorem uses Lemma 2 and it is quite similar to the proof of Theorem 1, and therefore, we omit details only saying that the proof of (i) is obtained from inequality (4) by applying the functional calculus arguments of Kian and for the proof of (ii), it is enough to choose in (i) functions $f$ and $g$ such that $f(t) g(t)=t$ (for example $f(t)=t^{r}$ and $g(t)=t^{1-r}$ with $\left.0<r<1\right)$ and $p=q=2$.

Recall that the Schwarz inequality for positive operators reads that

$$
\begin{equation*}
|\langle A x, y\rangle|^{2} \leqslant\langle A x, x\rangle\langle A y, y\rangle \tag{6}
\end{equation*}
$$

for all vectors $x, y \in \mathscr{H}$.
Reid [26] proved that for all operators $A, B$ such that $A \in \mathscr{B}(\mathscr{H})_{+}$and $A B \in$ $\mathscr{B}(\mathscr{H})_{h}$, we have

$$
\begin{equation*}
|\langle A B x, y\rangle| \leqslant\|B\|\langle A x, x\rangle, \forall x, y \in \mathscr{H} \tag{7}
\end{equation*}
$$

which is in some sense a variant of Schwarz inequality. Halmos [15] presented his stronger version of inequality (7) by replacing $r(B)$, the spectral radius, instead of $\|B\|$. Kato [18] introduced a companion inequality of Schwarz inequality (6), called the mixed Schwarz inequality, which asserts

$$
\begin{equation*}
\left.\left.|\langle A B x, y\rangle|^{2} \leqslant\left.\langle | A\right|^{2 \alpha} x, x\right\rangle\left.\langle | A^{*}\right|^{2(1-\alpha)} y, y\right\rangle, 0 \leqslant \alpha \leqslant 1 \tag{8}
\end{equation*}
$$

for every operators $A \in \mathscr{B}(\mathscr{H})$ and any vectors $x, y \in \mathscr{H}$.
Finally, Kittaneh [21] proved an interesting extension combining both the HalmosReid inequality (7) and the mixed Schwarz inequality (8), which reads that

$$
\begin{equation*}
|\langle A B x, y\rangle| \leqslant r(B)\|f(|A|) x\|\left\|g\left(\left|A^{*}\right|\right) y\right\| \tag{9}
\end{equation*}
$$

for all vectors $x, y \in \mathscr{H}$, where $A, B \in \mathscr{B}(\mathscr{H})$ such that $|A| B=B^{*}|A|$ and $f, g$ are nonnegative continuous functions defined on $[0, \infty)$ satisfying that $f(t) g(t)=t(t \geqslant 0)$.

Now by putting $x=\widehat{k}_{\lambda}$ and $y=\widehat{k}_{\lambda}$ in Halmos version of (7), (8) and (9), we obtain the following important inequalities for Berezin numbers and Berezin norms of operators:

$$
\begin{gathered}
\operatorname{ber}(A B) \leqslant r(B) \operatorname{ber}(A) . \\
(\operatorname{ber}(A))^{2} \leqslant \operatorname{ber}\left(|A|^{2 \alpha}\right) \operatorname{ber}\left(\left|A^{*}\right|^{2(1-\alpha)}\right),(0 \leqslant \alpha \leqslant 1) . \\
\operatorname{ber}(A B) \leqslant r(B)\|f(|A|)\|_{\text {Ber }}\left\|g\left(\left|A^{*}\right|\right)\right\|_{\text {Ber }} .
\end{gathered}
$$

## 3. Other inequalities

### 3.1. Upper bounds for the Berezin numbers

For $A \in \mathscr{B}(\mathscr{H})$, we denote by $|A|$ the absolute value operator of $A$, that is, $|A|=\left(A^{*} A\right)^{\frac{1}{2}}$, where $A^{*}$ is the adjoint operator of $A$. So, $\left|A^{*}\right|=\left(A A^{*}\right)^{\frac{1}{2}}$. A continuous real-valued function $f$ defined on an interval $\Delta$ is said to be pseudo-operator convex if

$$
f(\alpha A+(1-\alpha) B) \leqslant \alpha f(A)+(1-\alpha) f(B)
$$

in the sense that

$$
(\alpha f(A)+(1-\alpha) f(B))^{\sim}(\lambda) \leqslant(\alpha f(A)+(1-\alpha) f(B))^{\sim}(\lambda)
$$

for all $\lambda \in \Omega$, for all self-adjoint operators $A, B$ with spectra contained in $\Delta$ and all $\alpha \in[0,1]$.

The following lemma is well known, which is called the mixed Schwarz inequality (see Halmos [15]).

Lemma 3. If $A \in \mathscr{B}(\mathscr{H})$, then

$$
|\langle A x, y\rangle| \leqslant\langle | A|x, x\rangle^{\frac{1}{2}}\langle | A^{*}|y, y\rangle^{\frac{1}{2}}
$$

for all $x, y \in \mathscr{H}$.

LEmma 4. ([25]) For each $\alpha \geqslant 1$, we have

$$
\begin{equation*}
\frac{\alpha-1}{\alpha+1} \leqslant \ln \alpha \tag{10}
\end{equation*}
$$

Recall that an operator $A \in \mathscr{B}(\mathscr{H})$ is said to be hyponormal, if $\left[A^{*}, A\right] \in \mathscr{B}(\mathscr{H})_{+}$, i.e., $A^{*} A-A A^{*} \geqslant 0$, or equivalently $\left\|A^{*} x\right\| \leqslant\|A x\|$ for every $x \in \mathscr{H}$.

Typical examples are subnormal operators and singular integral operators on the line with Cauchy type integral (see [14]).

DEFINITION 1. We say that an operator $A \in \mathscr{B}(\mathscr{H})$ is a pseudo-hyponormal operator if $\left\|A^{*} \widehat{k}_{\lambda}\right\| \leqslant\left\|A \widehat{k}_{\lambda}\right\|$, or equivalenty, if $\widehat{\left[A^{*}, A\right]}(\lambda) \geqslant 0$ for all $\lambda \in \Omega$.

It is clear that every hyponormal operator is pseudo-hyponormal. The following example shows that the set of hyponormal operators is a proper subset in the set of pseudo-hyponormal operators on $\mathscr{H}$.

Example 1. Let $\theta$ be a non-constant inner function and $N_{\theta}:=T_{\theta}\left(I-T_{\theta} T_{\theta}^{*}\right)$ be an operator on the Hardy space $H^{2}:=H^{2}(\mathbb{D})$ over the unit disc $\mathbb{D}$. Then $N_{\theta}$ is a pseudo-hyponormal operator, but it is not hyponormal.

Proof. Since $\theta$ is an inner function (i.e., $|\theta(z)| \leqslant 1$ for all $z \in \mathbb{D}$ and $|\theta(\xi)|=1$ for almost all $\xi \in \partial \mathbb{D}$ ), an analytic Toeplitz operator $T_{\theta}$ is isometry on $H^{2}$, that is $T_{\theta}^{*} T_{\theta}=1$. So, it is easy to verify that $N_{\theta}^{2}=0$ and $\left\|N_{\theta}\right\|=1$, i.e., $N_{\theta}$ is a nonzero nilpotent operator on $H^{2}$. Therefore $N_{\theta}$ is not hyponormal operator, because for hyponormal operators their norm and spectral radius coincide (see, for instance, [14]).

However, $N_{\theta}$ is pseudo-hyponormal. In fact, for every $\lambda \in \mathbb{D}$ we have:

$$
\begin{aligned}
{\left[\widetilde{N_{\theta}^{*}, N_{\theta}}\right](\lambda) } & =\left\langle\left(N_{\theta}^{*} N_{\theta}-N_{\theta} N_{\theta}^{*}\right) \widehat{k}_{H^{2}, \lambda}, \widehat{k}_{H^{2}, \lambda}\right\rangle \\
& =\left\langle\left[\left(I-T_{\theta} T_{\theta}^{*}\right) T_{\theta}^{*} T_{\theta}\left(I-T_{\theta} T_{\theta}^{*}\right)-T_{\theta}\left(I-T_{\theta} T_{\theta}^{*}\right)\left(I-T_{\theta} T_{\theta}^{*}\right) T_{\theta}^{*}\right] \widehat{k}_{H^{2}, \lambda}, \widehat{k}_{H^{2}, \lambda}\right\rangle \\
& =\left\langle\left(I-2 T_{\theta} T_{\theta}^{*}+T_{\theta}^{2} T_{\theta}^{* 2}\right) \widehat{k}_{H^{2}, \lambda}, \widehat{k}_{H^{2}, \lambda}\right\rangle \\
& =1-2|\theta(\lambda)|^{2}+|\theta(\lambda)|^{4}=\left(1-|\theta(\lambda)|^{2}\right)^{2} \geqslant 0
\end{aligned}
$$

which shows that $N_{\theta}$ is a pseudo-hyponormal operator on $H^{2}$, as desired.
This section motivated by the paper [25], where upper bounds for the numerical radii are proved. In the present section, we prove the similar results for the Berezin numbers.

THEOREM 3. Let $A \in \mathscr{B}(\mathscr{H})$ be a pseudo-hyponormal operator. Then

$$
f(\operatorname{ber}(A)) \leqslant \frac{1}{2}\left\|f\left(\frac{1}{1+\frac{\xi_{|A|}^{2}}{8}}|A|\right)+f\left(\frac{1}{1+\frac{\xi_{|A|}^{2}}{8}}\left|A^{*}\right|\right)\right\|_{\operatorname{Ber}}
$$

for all nonnegative non-decreasing pseudo-operator convex $f$ on $[0, \infty)$, where $\xi_{|A|}=$ $\inf _{\lambda \in \Omega}\left\{\widetilde{\mid \widetilde{|A|-\left|A^{*}\right|}(\lambda)}\left[\frac{\mid \overrightarrow{A\left|+\left|A^{*}\right|\right.}(\lambda)}{}\right\}\right.$.

Proof. Since $A$ is pseudo-hyponormal, we have

$$
1 \leqslant \frac{\langle | A\left|\widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle}{\langle | A^{*}\left|\widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle}=\frac{\widetilde{|A|}(\lambda)}{\left.\widetilde{\left|A^{*}\right|} \mid \lambda\right)}
$$

for each $\lambda \in \Omega$. Putting $\alpha=\frac{\widetilde{A} \mid(\lambda)}{\left|A^{*}\right|(\lambda)}$ in (10), we get

$$
(0 \leqslant) \frac{\left|\widetilde{A|-| A^{*}}\right|(\lambda)}{\left|\widetilde{A\left|+\left|A^{*}\right|\right.}\right|(\lambda)} \leqslant \ln \frac{\widetilde{|A|} \mid(\lambda)}{\widetilde{\left|A^{*}\right|}(\lambda)},
$$

hence

$$
\begin{equation*}
\inf _{\lambda \in \Omega} \frac{\left|\widetilde{A|-| A^{*}}\right|(\lambda)}{\left|\widetilde{A\left|+\left|A^{*}\right|\right.}\right|(\lambda)} \leqslant \ln \frac{\widetilde{|A|}(\lambda)}{\widetilde{\left|A^{*}\right|}(\lambda)} \tag{11}
\end{equation*}
$$

We set

$$
\xi_{|A|}:=\inf _{\lambda \in \Omega} \frac{\mid \widetilde{A\left|-\left|A^{*}\right|\right.}(\lambda)}{\left.\left|\widehat{A\left|+\left|A^{*}\right|\right.}\right| \lambda\right)}
$$

On the other hand, it is known that (see [30] )

$$
\left(1+\frac{(\ln a-\ln b)^{2}}{8}\right) \sqrt{a b} \leqslant \frac{a+b}{2}
$$

for each $a, b>0$.
By taking $a=\widetilde{|A|}(\lambda)$ and $b=\widetilde{\left|A^{*}\right|}(\lambda)$, and by considering that $\xi_{|A|} \leqslant \ln \frac{\widetilde{|A|}(\lambda)}{\left|A^{*}\right|(\lambda)}$, we infer that

$$
\left(\widetilde{|A|}(\lambda) \widetilde{\left|A^{*}\right|}(\lambda)\right)^{1 / 2} \leqslant \frac{\mid \widetilde{A\left|+\left|A^{*}\right|\right.}(\lambda)}{2\left(1+\frac{\xi_{|A|}^{2}}{8}\right)}
$$

By applying Lemma 3, we obtain

$$
\widetilde{|A|}(\lambda) \leqslant \frac{\mid \widetilde{A\left|+\left|A^{*}\right|\right.}(\lambda)}{2\left(1+\frac{\xi_{|A|}^{2}}{8}\right)}
$$

Now, by taking supremum over $\lambda \in \Omega$, we get

$$
\operatorname{ber}(A) \leqslant \frac{1}{2\left(1+\xi_{|A|}^{2} / 8\right)} \operatorname{ber}\left(|A|+\left|A^{*}\right|\right) \leqslant \frac{1}{2\left(1+\xi_{|A|}^{2} / 8\right)}\left\||A|+\left|A^{*}\right|\right\|_{\text {Ber }}
$$

Therefore,

$$
\begin{aligned}
f(\operatorname{ber}(A)) & \leqslant f\left(\frac{1}{2\left(1+\frac{\xi_{|A|}^{2}}{8}\right)}\left\||A|+\left|A^{*}\right|\right\|_{\mathrm{Ber}}\right) \\
& =\left\|f\left(\frac{1}{2\left(1+\frac{\xi_{|A|}^{2}}{8}\right)}|A|+\frac{1}{2\left(1+\frac{\xi_{|A|}^{2}}{8}\right)}\left|A^{*}\right|\right)\right\|_{\mathrm{Ber}} \\
& \leqslant \frac{1}{2}\left\|f\left(\frac{1}{1+\frac{\xi_{|A|}^{2}}{8}}|A|\right)+f\left(\frac{1}{1+\frac{\xi_{|A|}^{2}}{8}}\left|A^{*}\right|\right)\right\|_{\mathrm{Ber}}
\end{aligned}
$$

This proves the theorem.
Since $\xi_{|A|}=0$ for any normal operator $A \in \mathscr{B}(\mathscr{H})$, then we have from Theorem 3 the following.

## Corollary 1.

$$
f(\operatorname{ber}(A)) \leqslant \frac{1}{2}\left\|f(|A|)+f\left(\left|A^{*}\right|\right)\right\|_{\text {Ber }}
$$

for every normal operator $A$ on $\mathscr{H}(\Omega)$.
Corollary 2. Let $A \in \mathscr{B}(\mathscr{H})$ be a pseudo-hyponormal operator. Then, for all $1 \leqslant r \leqslant 2$ we have

$$
\operatorname{ber}^{r}(A) \leqslant \frac{1}{2\left(1+\frac{\xi_{|A|}^{2}}{8}\right)}\left\||A|^{r}+\left|A^{*}\right|^{r}\right\|_{\mathrm{Ber}}
$$

where

$$
\xi_{|A|}=\inf _{\lambda \in \Omega} \frac{\left|\widetilde{A|-| A^{*}}\right|(\lambda)}{\left|\widehat{A\left|+\left|A^{*}\right|\right.}\right|(\lambda)}
$$

In particular,

$$
\operatorname{ber}(A) \leqslant \frac{1}{2\left(1+\frac{\xi_{|A|}^{2}}{8}\right)}\left\||A|+\left|A^{*}\right|\right\|_{\mathrm{Ber}}
$$

and

$$
\operatorname{ber}^{2}(A) \leqslant \frac{1}{2\left(1+\frac{\xi_{|A|}^{2}}{8}\right)}\left\|A^{*} A+A A^{*}\right\|_{\mathrm{Ber}}
$$

The following lemma can be proved by slight modification of the proof of Example 3.6 of the paper [19] (the proof is omitted).

LEMMA 5. Let $A_{1}, . . A_{n}$ be positive operators, then

$$
\begin{align*}
& \left\|\sum_{i=1}^{n} c_{i} A_{i}\right\|_{\text {Ber }}^{r} \\
& \left.\leqslant\left\|\sum_{i=1}^{n} c_{i} A_{i}^{r}\right\|_{\text {Ber }}-\inf _{\lambda \in \Omega}\left\{\sum_{i=1}^{n} c_{i}\langle | A_{i}-\left.\sum_{j=1}^{n} c_{j}\left\langle A_{j} \widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle\right|^{r} \widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle\right\}, r \geqslant 2, \tag{12}
\end{align*}
$$

for each $c_{1}, . . c_{n}$ with $\sum_{i=1}^{n} c_{i}=1$.
Theorem 4. Let $A \in \mathscr{B}(\mathscr{H})$, then

$$
\operatorname{ber}^{2}(A) \leqslant \frac{1}{2}\left(\left\||A|^{2}+\left|A^{*}\right|^{2}\right\|_{\text {Ber }}-\inf _{\lambda \in \Omega} \xi(\lambda)\right)
$$

where
$\xi(\lambda):=\left\langle\left(|A|-\left.\frac{1}{2}\left(|A| \widetilde{+\left|A^{*}\right|}(\lambda) I\right)\right|^{2}+\left|\left|A^{*}\right|-\frac{1}{2}\left(|A| \widetilde{\left|+\left|A^{*}\right|\right.}(\lambda) I\right)\right|^{2}\right) \widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle, \lambda \in \Omega$.

Proof. It is easy to verify that for any $A \in \mathscr{B}(\mathscr{H})$

$$
\operatorname{ber}(A) \leqslant \frac{1}{2}\left\||A|+\left|A^{*}\right|\right\|_{\mathrm{Ber}},
$$

or equivalently,

$$
\begin{equation*}
\operatorname{ber}^{2}(A) \leqslant \frac{1}{4}\left\||A|+\left|A^{*}\right|\right\|_{\operatorname{Ber}}^{2} \tag{13}
\end{equation*}
$$

Taking $n, r=2, c_{1}=c_{2}=\frac{1}{2}, A_{1}=|A|$ and $A_{2}=\left|A^{*}\right|$ in inequality (12) in Lemma 5, we infer

It follows from (13) that

This proves the theorem.
Note that $\inf _{\lambda \in \Omega} \xi(\lambda)>0$ if and only if
$0 \notin \operatorname{closBer}\left(\left||A|-\frac{1}{2}\left(\widetilde{|A|}(\lambda)+\widetilde{\left|A^{*}\right|}(\lambda)\right)^{\sim}(\lambda)\right|^{2}+\left|\left|A^{*}\right|-\frac{1}{2}\left(\widetilde{|A|}(\lambda)+\widetilde{A^{*} \mid}(\lambda)\right)^{\sim}(\lambda)\right|^{2}\right)$.

### 3.2. Lower bounds for the Berezin numbers

Here we give some lower bounds for the Berezin numbers of operators.
Theorem 5. Let $A \in \mathscr{B}(\mathscr{H})$, then

$$
\begin{equation*}
\|A\|_{\text {Ber }}\left(1-\frac{1}{2}\left\|I-\frac{A}{\|A\|}\right\|_{\text {Ber }}^{2}\right) \leqslant \operatorname{ber}(A) . \tag{14}
\end{equation*}
$$

Proof. It is easy to see that

$$
\begin{equation*}
1-\frac{1}{2}\left\|\frac{x}{\|x\|}-\frac{y}{\|y\|}\right\|^{2} \leqslant \frac{1}{\|x\|\|y\|}|\langle x, y\rangle| \tag{15}
\end{equation*}
$$

for every $x, y \in \mathscr{H}$. If we choose $\|x\|=\|y\|=1$ in (15), we have

$$
\begin{equation*}
1-\frac{1}{2}\|x-y\|^{2} \leqslant|\langle x, y\rangle| \tag{16}
\end{equation*}
$$

Now taking $x=\widehat{k}_{\lambda}$ and $y=\frac{A \widehat{k}_{\lambda}}{\left\|A \widehat{A}_{\lambda}\right\|}$ in (16), we infer

$$
1-\frac{1}{2}\left\|\widehat{k}_{\lambda}-\frac{A \widehat{k}_{\lambda}}{\left\|A \widehat{k}_{\lambda}\right\|}\right\|^{2} \leqslant\left|\left\langle\widehat{k}_{\lambda}, \frac{A \widehat{k}_{\lambda}}{\left\|A \widehat{k}_{\lambda}\right\|}\right\rangle\right|,
$$

or equivalently,

$$
\begin{equation*}
\left\|A \widehat{k}_{\lambda}\right\|\left(1-\frac{1}{2}\left\|\widehat{k}_{\lambda}-\frac{A \widehat{k}_{\lambda}}{\left\|A \widehat{k}_{\lambda}\right\|}\right\|^{2} \leqslant|\widetilde{A}(\lambda)|\right) \tag{17}
\end{equation*}
$$

for all $\lambda \in \Omega$. Since $\|A \widehat{k}\| \leqslant\|A\|_{\text {Ber }}$, we get from (17) that

$$
\left\|A \widehat{k}_{\lambda}\right\|\left(1-\frac{1}{2}\left\|I-\frac{A}{\|A\|}\right\|_{\text {Ber }}^{2}\right) \leqslant|\widetilde{A}(\lambda)|
$$

for all $\lambda \in \Omega$. Hence, by taking supremum over $\lambda \in \Omega$, we deduce the required inequality (14). The theorem is proved.

The following lemma is proved in [25].
Lemma 6. Let $x, y, z_{i}, i=1, \ldots, n$ be nonzero vectors and $\left\langle z_{j}, z_{i}\right\rangle \neq 0$, then

$$
\begin{equation*}
\left|\left\langle x-\sum_{i} \frac{\left\langle x, z_{i}\right\rangle}{\sum_{j}\left|\left\langle z_{j}, z_{i}\right\rangle\right|^{2}} z_{i}, y\right\rangle\right|^{2} \leqslant\|y\|^{2}\left(\|x\|^{2}-\sum_{i} \frac{\left|\left\langle x, z_{j}\right\rangle\right|^{2}}{\sum_{j}\left|\left\langle z_{i}, z_{j}\right\rangle\right|}\right) . \tag{17}
\end{equation*}
$$

Theorem 6. Let $A \in \mathscr{B}(\mathscr{H})$ be an invertible operator. Then

$$
\begin{equation*}
\inf _{\lambda \in \Omega} \xi^{2}(\lambda)+\operatorname{ber}^{2}(A) \leqslant\|A\|_{\mathrm{Ber}}^{2} \tag{18}
\end{equation*}
$$

where

$$
\xi(\lambda):=\frac{\left|\left\langle A^{2} \widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle-\left\langle A \widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle^{2}\right|}{\left\|A^{*} \widehat{k}_{\lambda}\right\|}
$$

Proof. Simplifying (17) for the case $n=1$, we find that (see [25])

$$
\left|\langle x, y\rangle-\frac{\langle x, z\rangle}{\|z\|^{2}}\langle z, y\rangle\right|^{2}+\frac{|\langle x, z\rangle|^{2}}{\|z\|^{2}}\|y\|^{2} \leqslant\|x\|^{2}\|y\|^{2}
$$

Apply these consideration to $x=A x, y=A^{*} x$ and $z=x$ with $\|x\|=1$, we obtain

$$
\begin{equation*}
\left(\frac{\left|\left\langle A^{2} x, x\right\rangle-\langle A x, x\rangle^{2}\right|}{\left\|A^{*} x\right\|}\right)^{2}+|\langle A x, x\rangle|^{2} \leqslant\|A x\|^{2} \tag{19}
\end{equation*}
$$

Now let us put $x=\widehat{k}_{\lambda}$ in (19). Then, we have that

$$
\begin{equation*}
\left(\frac{\left|\widetilde{A^{2}}(\lambda)-\widetilde{A}(\lambda)^{2}\right|}{\left\|A^{*} \widehat{k}_{\lambda}\right\|}\right)^{2}+|\widetilde{A}(\lambda)|^{2} \leqslant\left\|A \widehat{k}_{\lambda}\right\|^{2} \tag{20}
\end{equation*}
$$

for all $\lambda \in \Omega$. We denote $\xi(\lambda):=\frac{\left|\widetilde{A^{2}}(\lambda)-\widetilde{A}(\lambda)^{2}\right|}{\left\|A^{*} \hat{k}_{\lambda}\right\|}, \lambda \in \Omega$.
Then, inequality (20) implies that

$$
\inf _{\lambda \in \Omega} \xi^{2}(\lambda)+|\widetilde{A}(\lambda)|^{2} \leqslant\left\|A \widehat{k}_{\lambda}\right\|^{2}, \forall \lambda \in \Omega
$$

and thus, by taking the supremum over all points $\lambda$ in $\Omega$, we have the desired inequality (18). The theorem is proven.

Acknowledgement. The author thanks the anonymous referee for his/her valuable remarks.

## REFERENCES

[1] Y. Al-Manasrah and F. Kittaneh, A generalization of two refined Young inequalities, Posivity, 19 (2015), 757-768.
[2] N. AronZajn, Theory of reproducing kernels, Trans. Amer. Math. Soc., 68 (1950), 337-404.
[3] M. Bakherad, R. Lashkaripoor, M. Hajmdnamadi and U. Yamanci, Complete refinements of the Berezin number inequalities, arXiv: 2003.098226v1[math.FA] 22 Mar 2020.
[4] M. Bakherad and M. Garayev, Berezin number inequalities for operators, Concrete Operators, 6 (1) (2019), 33-43.
[5] H. Başaran, M. Gürdal and A. N. Güncan, Some operator inequalities associated with Kantorovich and Hölder-McCarthy inequalities and their applications, Turkish J. Math., 43 (1) (2019), 523-532.
[6] F. A. Berezin, Covariant and contravariant symbols for operators, Math. USSR-Izv., 6 (1972), 1117-1151.
[7] M. Engliś, Compact Toeplitz operators via the Berezin transform on bounded symmetric domains, Integr. Equat. Oper. Theory, 33 (1999), 426-455.
[8] M. T. Garayev, The Berezin number, Norm of Hankel Operator and Related Topics, Operator Theory: Advances and Applications, 247 (2015), 87-100.
[9] M. T. Garayev, Berezin symbols, Hölder-McCarthy and Young inequalities and their applications, Proc. Inst. Math. Mech. Natl. Acad. Sci. Azerb., 43 (2) (2017), 287-295.
[10] M. T. Garayev, H. Guediri and H. Sadraoui, Applications of reproducing kernels and Berezin symbols, New York J. Mathematics, 22 (2016), 583-604.
[11] M. T. Garayev, M. Gürdal and A. Okudan, Hardy-Hilbert's inequality and power inequalities for Berezin numbers of operators, Math. Inequal. Appl., 19 (3) (2016), 883-891.
[12] M. T. Garayev, M. Gürdal and S. Saltan, Hardy type inequality for reproducing kernel Hilbert space operators and related problems, Positivity, 21 (4) (2017), 1615-1623.
[13] M. T. Garayev, S. Saltan, F. Beuzaffour and B. Aktan, Some inequalities involving Berezin symbols of operator means and related questions, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Math. RACSAM, 114 (85) (2020), 1-17.
[14] B. Gustafson and M. Putinar, Hyponormal Quantizastion of Planar Domains, Lecture Notes in Mathematics, 2199, doi:10.1007/978-3-319-65810-0, Springer International Publishing AG 2017.
[15] P. R. Halmos, A Hilbert space problem book, Series: Graduate Texts in Mathematics, vol. 19., New York, 1982.
[16] M. T. KARAEV, Berezin symbol and invertibility of operators on the functional Hilbert spaces, J. Funct. Anal., 238 (2006), 181-192.
[17] M. T. KARAEV, Reproducing kernels and Berezin symbols techniques in various questions of operator theory, Complex Anal. Oper. Theory, 7 (4) (2013), 983-1018.
[18] T. Kato, Notes on some inequalities for linear operators, Math. Ann., 125 (1952), 208-212.
[19] M. Kian, Operator Jensen inequality for superquadratic functions, Linear Algebra Appl., 456 (2014), 82-87.
[20] M. Kian, Hardy-Hilbert type inequalities for Hilbert space operators, Ann. Funct. Anal., 3 (2012), 128-134.
[21] F. Kittaneh, A numerical radius inequality and an estimate for the numerical radius of the Frobenius companion matrix, Studia Math., 158 (2003), 11-17.
[22] F. Kittaneh and Y. Manasrah, Improved Young and Heinz inequalities for matrices, J. Math. Anal. Appl., 361 (2010), 262-269.
[23] J. Miao and D. Zheng, Compact operators on Bergman spaces, Integr. Equat. Oper. Theory, 48 (2004), 61-79.
[24] E. Nordgren and P. Rosenthal, Boundary values of Berezin symbols, Oper. Theory: Advances and Applications, 73 (1994), 362-368.
[25] M. E. Omidvar, H. R. Moradi and K. Shebrawi, Sharpening some classical numerical radius inequalities, Operators and Matrices, 12(2) (2018), 407-416.
[26] W. REID, Symmetrizable completely continuous linear transformations in Hilbert Space, Duke Math., 18 (1951), 41-56.
[27] U. YAMANCI AND M. GÜRDAL, On numerical radius and Berezin number inequalities for reproducing kernel Hilbert space, New York J. Mathematics, 23 (2017), 1531-1537.
[28] U. YAMANCI, M. GÜRDAL AND M. T. GARAYEV, Berezin number inequality for convex function in reproducing kernel Hilbert space, Filomat, 31 (18) (2017), 5711-5717.
[29] U. Yamanci, M. T. Garayev and C. Çelik, Hardy-Hilbert type inequality in reproducing kernel Hilbert space: its applications and related results, Linear Multilinear Algebra, 67 (4) (2019), 830-842.
[30] L. ZOU AND Y. JIANG, Improved arithmetic-geometric mean inequality and its application, J. Math. Inequal., 9 (2015), 107-111.
(Received May 13, 2020)
Ramiz Tapdigoglu Faculty of Engineering and Natural Sciences

Sabanci University
34956 Tuzla, Istanbul, Turkey
e-mail: ramiz.tapdigoglu@sabanciuniv.edu


[^0]:    Mathematics subject classification (2020): 47B35.
    Keywords and phrases: Reproducing kernel Hilbert space, Berezin symbol, Berezin number, Berezin norm, self-adjoint operator, functional calculus.

